SCREEN PRINTING APPAREL Sp	preadsheet Contract MC-000	5-21

ltem	Description (brand name or equivalent)	Printing	Sizes	Est. Qty.	Unit Price	Est. Quantity x Unit Price = Extended Price
	CATEGORY A		-			-
1	50/50 Heavyweight T-shirt (Gildan)	1 Color Front	Adults- XL	288	\$3.51	\$1,018.88
2	50/50 Heavyweight T-shirt (Gildan)	1 Color Front	Youth	400	\$3.51	\$1,404
3	50/50 Heavyweight T-shirt (Gildan)	1 Color Front	Adult 2X	36	\$4.95	\$1,782
4	50/50 Heavyweight T-shirt (Gildan)	1 Color Front	Adult 3X	12	\$6.75	\$81
5	50/50 Heavyweight T-shirt (Gildan)	1 Color Front 1 Color Back	Adult S- XL	288	\$4.20	\$1,209.60
6	50/50 Heavyweight T-shirt (Gildan)	1 Color Front 1 Color Back	Adult 2X	36	\$5.76	\$207.36
7	50/50 Heavyweight T-shirt (Gildan)	1 Color Front 1 Color Back	Adult 3X	12	\$7.20	\$86.40
8	50/50 Heavyweight T-shirt (Gildan)	1 Color Front 1 Color Back	Youth	110	\$4.20	\$462
9	50/50 Heavyweight T-shirt (Gildan)	1 Color Front and 1 Color #/Sponsors on Back	Youth	276	\$5.36	\$1,479.36
10	50/50 Heavyweight T-shirt (Gildan)	1 Color Front and 1 Color #/Sponsors on Back	Adult S- XL	20	\$6.84	\$136.80
11	50/50 Heavyweight T-shirt (Gildan)	1 Color Front and 1 Color #/Sponsors on Back	Adult 2X	20	\$5	\$107.20
12	50/50 Heavyweight T-shirt (Gildan)	1 Color Front and 1 Color #s on Back	Adult S-XL	380	\$5.16	\$1,960.80
13	50/50 Heavyweight T-shirt (Gildan)	1 Color Front and 1 Color #s on Back	Adult 2X	5	\$6.78	\$33.90
14	50/50 Heavyweight T-shirt (Gildan)	1 Color Front and 1 Color #s on Back	Adult 3X	5	\$7.20	\$36
15	50/50 Heavyweight T-shirt (Gildan)	3 Color Front and 1 Color Back	Youth	200	\$5.64	\$1,128
16	50/50 Heavyweight T-shirt (Gildan)	3 Color Front and 1 Color Back	Adult S-XL	200	\$5.64	\$1,128
17	50/50 Heavyweight T-shirt (Gildan)	3 Color Front and 1 Color Back	Adult 2X	36	\$7.02	\$252.72
18	50/50 Heavyweight T-shirt (Gildan)	3 Color Front and 1 Color Back	Adult 3X	12	\$8.26	\$99.12
19	50/50 Heavyweight T-shirt (Gildan)	2 Color Front	Adult S-XL	100	\$4.66	\$466
20	50/50 Heavyweight T-shirt (Gildan)	2 Color Front	Adult 2X	100	\$5.86	\$586
21	50/50 Heavyweight T-shirt (Gildan)	2 Color Front	Adult 3X	6	\$7.50	\$45
22	50/50 Heavyweight T-shirt (Gildan)	3 Color Front	Adults- XL	288	\$5.10	\$1,468.80
23	50/50 Heavyweight T-shirt (Gildan)	3 Color Front	Youth	400	\$5.10	\$2,040
24	50/50 Heavyweight T-shirt (Gildan)	3 Color Front	Adult 2X	36	\$6.58	\$236.88
25	50/50 Heavyweight T-shirt (Gildan)	3 Color Front	Adult 3X	12	\$7.50	\$90
				0	ATEGORY (A) TOTAL	\$17,537.82
	CATEGORY B					

ltem	Description (brand name or equivalent)	Printing	Sizes	Est. Qty.	Unit Price	Est. Quantity : Unit Price Extended Price
1	Tank Tops (Gildan)	1 Color Front and 1 Color <i>#</i> s on Back	Adult S-XL	378	\$6.00	\$2,26
2	Tank Tops (Gildan)	1 Color Front and 1 Color #s on Back	Adult 2X	5	\$7.56	\$37.8
3	Tank Tops (Gildan)	1 Color Front and 1 Color #s on Back	Adult 3X	5	\$8.40	\$4
4	Tank Tops (Gildan)	3 Color Front and 1 Color #s on Back	Adult S-XL	378	\$8.40	\$3,175.2
5	Tank Tops (Gildan)	3 Color Front and 1 Color #s on Back	Adult 2X	5	\$8.80	\$4
6	Tank Tops (Gildan)	3 Color Front and 1 Color #s on Back	Adult 3X	5	\$8.80	\$4
7	Tank Tops (Gildan)	1 Color Front 1 Color Back	Adult S-XL	48	\$6	\$2
8	Tank Tops (Gildan)	1 Color Front 1 Color Back	Adult 2X	5	\$7.54	\$37.
9	Tank Tops (Gildan)	3 Color Front and 1 Color Back	Adult S-XL	48	\$6	\$2
10	Tank Tops (Gildan)	3 Color Front and 1 Color Back	Adult 2X	5	\$7.54	\$37.
	CATEGORY C				(B) TOTAL	\$6,340.2
	Description (brand name or					Est. Quantity
tem	Description (brand name or	Printing	Sizes	Est. Qty.	(B) TOTAL	Est. Quantity Unit Price
tem 1	Description (brand name or	Printing 1 Color Front 1 Color Back	Sizes Adult S-XL	Est. Qty. 288		Est. Quantity Unit Price Extende Price
	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts				Unit Price	Est. Quantity Unit Price Extende Price \$1,203.
1	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts	1 Color Front 1 Color Back	Adult S-XL	288	Unit Price \$4.18	Est. Quantity Unit Price Extende Price \$1,203. \$558.
1	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts	1 Color Front 1 Color Back 1 Color Front 1 Color Back	Adult S-XL Adult 2X	288	Unit Price \$4.18 \$5.82	Est. Quantity Unit Price Extende Price \$1,203. \$558. \$85.
1 2 3	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts	1 Color Front 1 Color Back 1 Color Front 1 Color Back 1 Color Front 1 Color Back	Adult S-XL Adult 2X Adult 3X	288 96 12	Unit Price \$4.18 \$5.82 \$7.14	Est. Quantity Unit Price Extende Price \$1,203. \$558. \$85. \$8666.
2 3 4	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts	1 Color Front 1 Color Back 1 Color Front 1 Color Back 1 Color Front 1 Color Back 1 Color Front 1 Color Back	Adult S-XL Adult 2X Adult 3X Youth	288 96 12 96	Unit Price \$4.18 \$5.82 \$7.14 \$6.94	Est. Quantity Unit Price Extende Price \$1,203. \$558. \$85. \$8666. \$1,549.
1 2 3 4 5	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts	1 Color Front 1 Color Back 1 Color Front 1 Color Back 1 Color Front 1 Color Back 1 Color Front 1 Color Back 3 Color Front and 1 Color Back	Adult S-XL Adult 2X Adult 3X Youth Adult S-XL	288 96 12 96 288	Unit Price \$4.18 \$5.82 \$7.14 \$6.94 \$5.38	Est. Quantity Unit Price Extende Price \$1,203. \$558. \$85. \$85. \$8666. \$1,549. \$6666.
1 2 3 4 5 6	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan)	1 Color Front 1 Color Back 3 Color Front and 1 Color Back 3 Color Front and 1 Color Back	Adult S-XL Adult 2X Adult 3X Youth Adult S-XL Adult 2X	288 96 12 96 288 96	Unit Price \$4.18 \$5.82 \$7.14 \$6.94 \$5.38 \$6.94	Est. Quantity Unit Price Extended Price \$1,203. \$558. \$85. \$85. \$8666. \$1,549. \$6666. \$81.
1 2 3 4 5 6 7	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan)	1 Color Front 1 Color Back 3 Color Front 1 Color Back 3 Color Front and 1 Color Back	Adult S-XL Adult 2X Adult 3X Youth Adult S-XL Adult 2X Adult 3X	288 96 12 96 288 96 12	Unit Price \$4.18 \$5.82 \$7.14 \$6.94 \$5.38 \$6.94 \$6.78	Quantity Unit Price Extende
1 2 3 4 5 6 7 8	Description (brand name or equivalent) 100% cotton Heavyweight T-shirts (Gildan) 100% cotton Heavyweight T-shirts (Gildan)	1 Color Front 1 Color Back 3 Color Front 1 Color Back 3 Color Front and 1 Color Back	Adult S-XL Adult 2X Adult 3X Youth Adult S-XL Adult 2X Adult 3X Youth	288 96 12 96 288 96 12 96	Unit Price \$4.18 \$5.82 \$7.14 \$6.94 \$5.38 \$6.94 \$6.78 \$5.38	Est. Quantity Unit Price Extende Price \$1,203. \$558. \$85. \$85. \$666. \$1,549. \$666. \$81. \$516.

12	100% cotton Heavyweight T-shirts (Gildan)	1 Color Front	Youth	96	\$3.54	\$339.84
13	100% cotton Heavyweight T-shirts (Gildan)	2 Color Front	Adult S-XL	288	\$4.54	\$1,307.52
14	100% cotton Heavyweight T-shirts (Gildan)	2 Color Front	Adult 2X	96	\$5.40	\$518.40
15	100% cotton Heavyweight T-shirts (Gildan)	2 Color Front	Adult 3X	12	\$6.05	\$72.60
16	100% cotton Heavyweight T-shirts (Gildan)	2 Color Front	Youth	96	\$4.54	\$435.84
17	100% cotton Heavyweight T-shirts (Gildan)	3 Color Front	Adult S-XL	288	\$5.40	\$1,555.20
18	100% cotton Heavyweight T-shirts (Gildan)	3 Color Front	Adult 2X	96	\$6.78	\$650.88
19	100% cotton Heavyweight T-shirts (Gildan)	3 Color Front	Adult 3X	12	\$6.15	\$73.80
20	100% cotton Heavyweight T-shirts (Gildan)	3 Color Front	Youth	96	\$5.40	\$518.40
				C	ATEGORY (C) TOTAL	\$12,402.48
	CATEGORY D					
ltem	Description (brand name or equivalent)	Printing	Sizes	Est. Qty.	Unit Price	Est. Quantity x Unit Price = Extended Price
1	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	1 Color Front	Adult S-XL	16	\$15.60	\$249.60
2	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	1 Color Front	Adult 2X	6	\$16.80	\$100.80
3	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	1 Color Front	Adult 3X	6	\$16.80	\$100.80
4	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	1 Color Front	Adult S-XL	16	\$20.40	\$326.40
5	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	1 Color Front	Adult 2X	6	\$21.40	\$128.40
6	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	1 Color Front	Adult 3X	6	\$21.40	\$128.40
7	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	2 Color Front	Adult S-XL	16	\$16.80	\$268.80
8	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	2 Color Front	Adult 2X	6	\$18	\$108
9	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	2 Color Front	Adult 3X	6	\$18	\$108
10	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	2 Color Front	Adult S-XL	16	\$21.60	\$345.60
11	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	2 Color Front	Adult 2X	6	\$22.80	\$136.80
12	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	2 Color Front	Adult 3X	6	\$22.80	\$136.80

13	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	3 Color Front	Adult S-XL	16	\$17.70	\$283.20
14	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	3 Color Front	Adult 2X	6	\$18.90	\$113.40
15	Crewneck Sweatshirt. 10 oz, 90/10 blend (Champion)	3 Color Front	Adult 3X	6	\$18.90	\$113.40
16	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	3 Color Front	Adult S-XL	16	\$21.72	\$347.52
17	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	3 Color Front	Adult 2X	6	\$22.82	\$136.92
18	Hooded Sweatshirt 10 oz. 90/10 blend (Champion)	3 Color Front	Adult 3X	6	\$22.82	\$136.92
19	Hooded sweatshirt 9 oz 50/50 (Champion)	1 Color Front	Adult S-XL	6	\$15.60	\$93.60
20	Hooded sweatshirt 9 oz 50/50 (Champion)	1 Color Front	Adult 2X	2	\$16.60	\$33.20
21	Hooded Zipper sweatshirt/ 9 oz. 50% cotton, 50% polyester (Champion)	1 Color Front	Adult S-XL	16	\$22	\$352
22	Hooded Zipper sweatshirt/ 9 oz. 50% cotton, 50% polyester (Champion)	1 Color Front	Adult 2X	2	\$24.20	\$48.40
23	Hooded sweatshirt 9 oz 50/50 (Champion)	1 Color Front	Adult S-XL	100	\$15.60	\$1,560
24	Hooded sweatshirt 9 oz 50/50 (Champion)	1 Color Front	Adult 2X	4	\$16.80	\$67.20
25	Hooded sweatshirt reversible weave (Champion)	1 Color Front	Adult S-XL	16	\$34.10	\$545.60
26	Hooded sweatshirt reversible weave (Champion)	1 Color Front	Adult 2X	6	\$36.30	\$217.80
27	Nublend Hooded Zipper sweatshirt 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult S-XL	16	\$17.58	\$281.28
28	Nublend Hooded Zipper sweatshirt 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult 2X	6	\$18.58	\$111.48
29	Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult S-XL	16	\$17.58	\$281.28
30	Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult 2X	6	\$18.58	\$111.48
31	Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult S-XL	16	\$17.34	\$277.44
32	Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult 2X	6	\$18.54	\$111.24
33	Z class Hooded sweatshirt 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult S-XL	100	\$16.20	\$1,620
34	Z class Hooded sweatshirt 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult 2X	4	\$19.80	\$79.20
35	Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult S-XL	100	\$15.60	\$1,560
36	Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult 2X	4	\$18.15	\$72.60
37	Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult S-XL	100	\$17.60	\$1,760
38	Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester (Jerzees)	1 Color Front	Adult 2X	4	\$19.80	\$79.20

39	Fruit of the Loom Full-Zip Hoodie 12 oz Super Cotton 70/30	1 Color Front	Adult S-XL	16	\$17.60	\$281.60
40	Fruit of the Loom Full-Zip Hoodie 12 oz Super Cotton 70/30	1 Color Front	Adult 2X	6	\$19.80	\$118.80
41	Champion Reverse Weave 12 oz Pull Over Hoodie	1 Color Front	Adult S-XL	16	\$33	\$528
42	Champion Reverse Weave 12 oz Pull Over Hoodie	1 Color Front	Adult 2X	6	\$36.30	\$217.80
43	Champion Hooded sweatshirt 9 oz 50/50	2 Color Front	Adult S-XL	16	\$18.70	\$299.20
44	Champion Hooded sweatshirt 9 oz 50/50	2 Color Front	Adult 2X	2	\$20.90	\$41.80
45	Champion Hooded Zipper sweatshirt/ 9 oz. 50% cotton, 50% polyester	2 Color Front	Adult S-XL	16	\$20.40	\$326.40
46	Champion Hooded Zipper sweatshirt/ 9 oz. 50% cotton, 50% polyester	2 Color Front	Adult 2X	2	\$20.90	\$41.80
47	Champion Hooded sweatshirt 9 oz 50/50	2 Color Front	Adult S-XL	100	\$19.80	\$1,980
48	Champion Hooded sweatshirt 9 oz 50/50	2 Color Front	Adult 2X	4	\$20.35	\$81.40
49	Champion Hooded sweatshirt reversible weave	2 Color Front	Adult S-XL	16	\$33	\$528
50	Champion Hooded sweatshirt reversible weave	2 Color Front	Adult 2X	6	\$36.30	\$217.80
51	Jerzees Nublend Hooded Zipper sweatshirt 50% cotton, 50% polyester	2 Color Front	Adult S-XL	16	\$18.60	\$298
52	Jerzees Nublend Hooded Zipper sweatshirt 50% cotton, 50% polyester	2 Color Front	Adult 2X	6	\$21	\$126
53	Jerzees Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester	2 Color Front	Adult S-XL	16	\$19.20	\$307.20
54	Jerzees Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester	2 Color Front	Adult 2X	6	\$18.70	\$112.20
55	Jerzees Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester	2 Color Front	Adult S-XL	16	\$19.20	\$307.20
56	Jerzees Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester	2 Color Front	Adult 2X	6	\$20.57	\$123.42
57	Jerzees Z class Hooded sweatshirt 50% cotton, 50% polyester	2 Color Front	Adult S-XL	100	\$18.60	\$1,860
58	Jerzees Z class Hooded sweatshirt 50% cotton, 50% polyester	2 Color Front	Adult 2X	4	\$19.20	\$76.80
59	Jerzees Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester	2 Color Front	Adult S-XL	100	\$18.60	\$1,860
60	Jerzees Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester	2 Color Front	Adult 2X	4	\$19.20	\$76.80
61	Jerzees Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester	2 Color Front	Adult S-XL	100	\$19.20	\$1,920
62	Jerzees Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester	2 Color Front	Adult 2X	4	\$19.20	\$76.80
63	Fruit of the Loom Full-Zip Hoodie 12 oz Super Cotton 70/30	2 Color Front	Adult S-XL	16	\$19.80	\$316.80
64	Fruit of the Loom Full-Zip Hoodie 12 oz Super Cotton 70/30	2 Color Front	Adult 2X	6	\$21.60	\$129.60

65	Champion Reverse Weave 12 oz Pull Over Hoodie	2 Color Front	Adult S-XL	16	\$34.10	\$545.60
66	Champion Reverse Weave 12 oz Pull Over Hoodie	2 Color Front	Adult 2X	6	\$37.40	\$224.40
67	Champion Hooded sweatshirt 9 oz 50/50	3 Color Front	Adult S-XL	16	\$34.80	\$556.80
68	Champion Hooded sweatshirt 9 oz 50/50	3 Color Front	Adult 2X	2	\$35.20	\$70.40
69	Champion Hooded Zipper sweatshirt/ 9 oz. 50% cotton, 50% polyester	3 Color Front	Adult S-XL	16	\$20.40	\$326.40
70	Champion Hooded Zipper sweatshirt/ 9 oz. 50% cotton, 50% polyester	3 Color Front	Adult 2X	2	\$22.80	\$45.60
71	Champion Hooded sweatshirt 9 oz 50/50	3 Color Front	Adult S-XL	100	\$21.60	\$2,160
72	Champion Hooded sweatshirt 9 oz 50/50	3 Color Front	Adult 2X	4	\$22.50	\$90
73	Champion Hooded sweatshirt reversible weave	3 Color Front	Adult S-XL	16	\$35.20	\$563.20
74	Champion Hooded sweatshirt reversible weave	3 Color Front	Adult 2X	6	\$38.50	\$231
75	Jerzees Nublend Hooded Zipper sweatshirt 50% cotton, 50% polyester	3 Color Front	Adult S-XL	16	\$19.20	\$307.20
76	Jerzees Nublend Hooded Zipper sweatshirt 50% cotton, 50% polyester	3 Color Front	Adult 2X	6	\$22.80	\$136.80
77	Jerzees Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester	3 Color Front	Adult S-XL	16	\$19.20	\$307.20
78	Jerzees Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester	3 Color Front	Adult 2X	6	\$22.80	\$136.80
79	Jerzees Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester	3 Color Front	Adult S-XL	16	\$19.80	\$316.80
80	Jerzees Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester	3 Color Front	Adult 2X	6	\$21.45	\$128.70
81	Jerzees Z class Hooded sweatshirt 50% cotton, 50% polyester	3 Color Front	Adult S-XL	100	\$18.60	\$1,860
82	Jerzees Z class Hooded sweatshirt 50% cotton, 50% polyester	3 Color Front	Adult 2X	4	\$19.20	\$76.80
83	Jerzees Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester	3 Color Front	Adult S-XL	100	\$18.60	\$1,860.00
84	Jerzees Hooded sweatshirt 9.5 oz 50% cotton, 50% polyester	3 Color Front	Adult 2X	4	\$19.80	\$79.20
85	Jerzees Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester	3 Color Front	Adult S-XL	100	\$19.20	\$1,920
86	Jerzees Hooded Zipper sweatshirt 9.5 oz 50% cotton, 50% polyester	3 Color Front	Adult 2X	4	\$19.80	\$79.20
87	Fruit of the Loom Full-Zip Hoodie 12 oz Super Cotton 70/30	3 Color Front	Adult S-XL	100	\$21.60	\$2,160
88	Fruit of the Loom Full-Zip Hoodie 12 oz Super Cotton 70/30	3 Color Front	Adult 2X	4	\$21.60	\$86.40
89	Champion Reverse Weave 12 oz Pull Over Hoodie	3 Color Front	Adult S-XL	100	\$35.20	\$3,520
90	Champion Reverse Weave 12 oz Pull Over Hoodie	3 Color Front	Adult 2X	4	\$38.50	\$154

CATEGORY \$42.728.28 (D) TOTAL CATEGORY E Est. Quantity x Description (brand name or Est. Qty. Item Printing Sizes Unit Price Unit Price = equivalent) Extended Price 100% cotton pique sportshirts (Gildan) 1 Color Left Chest Imprint Adult S-XL 100 \$7.80 \$780 1 2 100% cotton pique sportshirts (Gildan) 1 Color Left Chest Imprint Adult 2X 24 \$10.20 \$244.80 \$133.20 3 100% cotton pique sportshirts (Gildan) 1 Color Left Chest Imprint Adult 3X 12 \$11.10 4 100% cotton pique sportshirts (Gildan) 2 Color Left Chest Imprint Adult S-XL 100 \$9 \$900 5 100% cotton pique sportshirts (Gildan) 2 Color Left Chest Imprint Adult 2X 24 \$10.66 \$255.84 100% cotton pique sportshirts (Gildan) 2 Color Left Chest Imprint Adult 3X 12 \$11.46 \$137.52 6 7 100 \$9.60 \$960 100% cotton pique sportshirts (Gildan) 3 Color Left Chest Imprint Adult S-XL 8 100% cotton pique sportshirts (Gildan) 3 Color Left Chest Imprint Adult 2X 24 \$11.40 \$273.60 12 9 100% cotton pique sportshirts (Gildan) 3 Color Left Chest Imprint Adult 3X \$12 \$144 10 100% Polyester 6 oz Mens Polo (Gildan) 1 Color Left Chest Imprint Adult S-XL 100 \$8.70 \$870 Adult 2X 24 \$10.20 \$244.80 11 100% Polyester 6 oz Mens Polo (Gildan) 1 Color Left Chest Imprint Adult 3X \$10.32 12 100% Polyester 6 oz Mens Polo (Gildan) 1 Color Left Chest Imprint 24 \$247.68 100% Polyester 6 oz Womens Polo 13 1 Color Left Chest Imprint Adult S-XL 100 \$8.70 \$870 (Gildan) 100% Polyester 6 oz Womens Polo 14 1 Color Left Chest Imprint Adult 2X 24 \$10.20 \$244.80 (Gildan) 100% Polyester 6 oz Womens Polo 15 1 Color Left Chest Imprint Adult 3X 24 \$10.32 \$247.68 (Gildan) Adult S-XL 100 \$9.90 \$990 16 100% Polyester 6 oz Mens Polo (Gildan) 2 Color Left Chest Imprint 17 100% Polyester 6 oz Mens Polo (Gildan) 2 Color Left Chest Imprint Adult 2X 24 \$10.80 \$259.20 Adult 3X 24 \$11.70 \$280.80 18 100% Polyester 6 oz Mens Polo (Gildan) 2 Color Left Chest Imprint 100% Polyester 6 oz Womens Polo 19 \$1,020 2 Color Left Chest Imprint Adult S-XL 100 \$10.20 (Gildan) 100% Polyester 6 oz Womens Polo 20 Adult 2X \$11.10 2 Color Left Chest Imprint 24 \$266.40 (Gildan) 100% Polyester 6 oz Womens Polo 21 2 Color Left Chest Imprint Adult 3X 24 \$11.70 \$280.80 (Gildan) \$10.20 22 100% Polyester 6 oz Mens Polo (Gildan) Adult S-XL 100 \$1,020 3 Color Left Chest Imprint 100% Polyester 6 oz Mens Polo (Gildan) Adult 2X 24 \$11.40 \$273.60 23 3 Color Left Chest Imprint 24 100% Polyester 6 oz Mens Polo (Gildan) 3 Color Left Chest Imprint Adult 3X 24 \$12 \$288 100% Polyester 6 oz Womens Polo 25 3 Color Left Chest Imprint Adult S-XL 100 \$10.20 \$1,020 (Gildan)

26	100% Polyester 6 oz Womens Polo (Gildan)	3 Color Left Chest Imprint	Adult 2X	24	\$1140	\$273.60
27	100% Polyester 6 oz Womens Polo (Gildan)	3 Color Left Chest Imprint	Adult 3X	24	\$12	\$288
				CAT	EGORY (E) TOTAL	\$12,814.32
	CATEGORY F					
ltem	Description (brand name or equivalent)	Printing	Sizes	Est. Qty.	Unit Price	Est. Quantity x Unit Price = Extended Price
1	Long sleeve T-shirt (Gildan)	1 Color Front and 1 Color Back	Adult S-XL	30	\$6.30	\$189
2	Long sleeve T-shirt (Gildan)	1 Color Front and 1 Color Back	Adult 2X	30	\$8.28	\$248.40
3	Long sleeve T-shirt (Gildan)	1 Color Front and 1 Color Back	Adult 3X	30	\$9.30	\$279
4	Long sleeve T-shirt (Gildan)	1 Color Front	Adult S-XL	30	\$6.30	\$189
5	Long sleeve T-shirt (Gildan)	1 Color Front	Adult 2X	30	\$8.28	\$248.40
6	Long sleeve T-shirt (Gildan)	1 Color Front	Adult 3X	30	\$9.30	\$279
7	Long sleeve T-shirt (Gildan)	3 Color Front and 1 Color Back	Adult S-XL	36	\$9.18	\$330.48
8	Long sleeve T-shirt (Gildan)	3 Color Front and 1 Color Back	Adult 2X	6	\$10.74	\$64.44
9	Long sleeve T-shirt (Gildan)	3 Color Front and 1 Color Back	Adult 3X	6	\$11.58	\$69.48
10	Long sleeve T-shirt (Gildan)	3 Color Front	Adult S-XL	36	\$8.38	\$301.68
11	Long sleeve T-shirt (Gildan)	3 Color Front	Adult 2X	6	\$9.58	\$57.48
12	Long sleeve T-shirt (Gildan)	3 Color Front	Adult 3X	6	\$10.78	\$64.68
13	Long sleeve T-shirt (Gildan)	2 Color Front	Adult S-XL	144	\$7.14	\$1,028.16
14	Long sleeve T-shirt (Gildan)	2 Color Front	Adult 2X	6	\$8.34	\$50.04
				САТ	EGORY (F) TOTAL	\$3,399.24
	CATEGORY G					
ltem	Description (brand name or equivalent)	Printing	Sizes	Est. Qty.	Unit Price	Est. Quantity x Unit Price = Extended Price
1	Cool and dry pebble-knot polo (8240 Ultra Club)men	1 Color Front	Adult S-XL	36	\$16.30	\$586.80
2	Cool and dry pebble-knot polo (8240 Ultra Club)men	1 Color Front	Adult 2X	6	\$18.20	\$109.20
3	Cool and dry pebble-knot polo (8240 Ultra Club)men	1 Color Front	Adult 3X	2	\$19.90	\$39.80
4	Cool and dry pebble-knot polo (8240L Ultra Club)women	1 Color Front	Adult S-XL	36	\$16.30	\$586.80
5	Cool and dry pebble-knot polo (8240L Ultra Club)women	1 Color Front	Adult 2X	6	\$18.70	\$112.20
6	Cool and dry pebble-knot polo (8240L Ultra Club)women	1 Color Front	Adult 3X	2	\$19.90	\$39.80

7	Cool and dry pebble-knot polo (8240 Ultra Club)men	3 Color Front	Adult S-XL	36	\$17.86	\$642.96
8	Cool and dry pebble-knot polo (8240 Ultra Club)men	3 Color Front	Adult 2X	6	\$20.22	\$121.32
9	Cool and dry pebble-knot polo (8240 Ultra Club)men	3 Color Front	Adult 3X	2	\$21.42	\$42.84
10	Cool and dry pebble-knot polo (8240L Ultra Club)women	3 Color Front	Adult S-XL	36	\$17.86	\$642.96
11	Cool and dry pebble-knot polo (8240L Ultra Club)women	3 Color Front	Adult 2X	6	\$20.22	\$121.32
12	Cool and dry pebble-knot polo (8240L Ultra Club)women	3 Color Front	Adult 3X	2	\$21.42	\$42.82
13	Cool and dry pebble-knot polo (8240 Ultra Club)men	3 Color Front Embroidery	Adult S-XL	36	\$20.22	\$727.92
14	Cool and dry pebble-knot polo (8240 Ultra Club)men	3 Color Front Embroidery	Adult 2X	6	\$20.40	\$122.40
15	Cool and dry pebble-knot polo (8240 Ultra Club)men	3 Color Front Embroidery	Adult 3X	2	\$21.60	\$43.20
16	Cool and dry pebble-knot polo (8240L Ultra Club)women	3 Color Front Embroidery	Adult S-XL	36	\$20.40	\$734.40
17	Cool and dry pebble-knot polo (8240L Ultra Club)women	3 Color Front Embroidery	Adult 2X	6	\$20.40	\$122.40
18	Cool and dry pebble-knot polo (8240L Ultra Club)women	3 Color Front Embroidery	Adult 3X	2	\$21.60	\$43.20
				C	ATEGORY	¢ 4 000 00
						\$4,882.36
	-	-			(G) TOTAL	\$4,882.36
	CATEGORY H				(G) TOTAL	\$4,882.36
Item	Description (brand name or	Printing	Sizes	Est. Qty.	(G) TOTAL Unit Price	\$4,882.36 Est. Quantity x Unit Price = Extended Price
ltem	Description (brand name or	Printing 1 Color Front	Sizes Adult S-XL			Est. Quantity x Unit Price = Extended
ltem 1	Description (brand name or equivalent) Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock			Est. Qty.	Unit Price	Est. Quantity x Unit Price = Extended Price
1	Description (brand name or equivalent) Cool and dry sport performance interlock tee (8420 Ultra Club)men	1 Color Front	Adult S-XL	Est. Qty. 36	Unit Price \$6.60	Est. Quantity x Unit Price = Extended Price \$237.60
1 2	Description (brand name or equivalent) Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock	1 Color Front 1 Color Front	Adult S-XL Adult 2X	Est. Qty. 36 6	Unit Price \$6.60 \$7.80	Est. Quantity x Unit Price = Extended Price \$237.60 \$46.80
1 2 3	Description (brand name or equivalent) Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock	1 Color Front 1 Color Front 1 Color Front	Adult S-XL Adult 2X Adult 3X	Est. Qty. 36 6 2	Unit Price \$6.60 \$7.80 \$9	Est. Quantity x Unit Price = Extended Price \$237.60 \$46.80 \$18
1 2 3 4	Description (brand name or equivalent) Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock tee (8420 Ultra Club)men Cool and dry sport performance interlock tee (8420L Ultra Club)women Cool and dry sport performance interlock	1 Color Front 1 Color Front 1 Color Front 1 Color Front	Adult S-XL Adult 2X Adult 3X Adult S-XL	Est. Qty. 36 2 36	Unit Price \$6.60 \$7.80 \$9 \$6.60	Est. Quantity x Unit Price = Extended Price \$237.60 \$46.80 \$18 \$237.60

Cool & Dry Sport Performance Interlock Tee (8420 UltraClub)Men's '	3 Color Front	Adult 2X	6	\$9.48	\$56.88
Cool & Dry Sport Performance Interlock Tee (8420 UltraClub)Men's '	3 Color Front	Adult 3X	2	\$10.18	\$20.36
Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women	3 Color Front	Adult S-XL	36	\$8.28	\$298.09
Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women	3 Color Front	Adult 2X	6	\$9.48	\$56.88
Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women	3 Color Front	Adult 3X	2	\$10.18	\$20.36
Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens	1 Color Front	Adult S-XL	36	\$6.60	\$237.60
Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens	1 Color Front	Adult 2X	6	\$7.80	\$46.80
Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens	1 Color Front	Adult S-XL	36	\$6.60	\$237.60
Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens	1 Color Front	Adult 2X	6	\$18.15	\$108.90
Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens	3 Color Front	Adult S-XL	36	\$8.40	\$302.40
Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens	3 Color Front	Adult 2X	6	\$9.60	\$57.60
Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens	3 Color Front	Adult S-XL	36	\$8.40	\$302.40
Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens	3 Color Front	Adult 2X	6	\$9.60	\$57.60
				ATEGORY (H) TOTAL	\$2,706.34
CATEGORY I Description (brand name or equivalent)	Printing	Sizes	Est. Qty.	Unit Price	Est. Quantity x Unit Price = Extended Price
Ultra cotton 100% preshrunk heavyweight t-shirt Navy, white or gray (6.1oz Gildan)	4"x3 1/4" patch front chest (one colorwhite, silver or black)	M, L, XL	24	\$4.44	\$106.56
	Interlock Tee (8420 UltraClub)Men's Cool & Dry Sport Performance Interlock Tee (8420 UltraClub)Men's Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens Ultra cotton 100% preshrunk heavyweight	Interlock Tee (8420 UltraClub)Men's '3 Color FrontCool & Dry Sport Performance Interlock Tee (8420 UltraClub)Men's '3 Color FrontCool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontCool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontCool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontCool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontCool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women1 Color FrontSport Tek Posicharge Competitor Short Sleeve T-Shirt Mens1 Color FrontSport Tek Posicharge Competitor Short Sleeve T-Shirt Womens1 Color FrontSport Tek Posicharge Competitor Short Sleeve T-Shirt Womens1 Color FrontSport Tek Posicharge Competitor Short Sleeve T-Shirt Womens3 Color FrontSport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontSport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontSport Tek Posicharge Competitor Short Sleeve T-Shirt Womens3 Color FrontSport Tek Posicharge Compe	Interlock Tee (8420 UltraClub)Men's 3 Color Front Adult 2X Cool & Dry Sport Performance Interlock Tee (8420 UltraClub)Men's 3 Color Front Adult 3X Cool & Dry Sport Performance Interlock Tee (8420L UltraClub) wormen 3 Color Front Adult S-XL Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- wormen 3 Color Front Adult S-XL Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- wormen 3 Color Front Adult 2X Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- wormen 3 Color Front Adult 3X Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens 1 Color Front Adult S-XL Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens 1 Color Front Adult 2X Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens 1 Color Front Adult 2X Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens 3 Color Front Adult 2X Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens 3 Color Front Adult 2X Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens 3 Color Front Adult 2X Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens 3 Color Front Adult 2X Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens 3 Color Front Adult 2X Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens 3 Color Front	Interlock Tee (8420 UltraClub)Men's (Cool & Dry Sport Performance Interlock Tee (8420 UltraClub)Men's (Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult 3X2Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult S-XL36Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult S-XL6Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult S-XL6Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens1 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens1 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens1 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Momens3 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Momens3 Color FrontAdult S-XL36Sport Tek Posicharge Competitor Short Sleeve T-Shirt Womens3 Color FrontAdult S-XL36Spor	Interlock Tee (8420 UltraClub)Men's Cool & Dry Sport Performance Interlock Tee (8420 UltraClub)Men's Cool & Dry Sport Performance Interlock Tee (8420 UltraClub)- Momen3 Color FrontAdult 3X2\$10.18Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult S-XL36\$8.28Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult 2X6\$9.48Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult 3X2\$10.18Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women3 Color FrontAdult 3X2\$10.18Cool & Dry Sport Performance Interlock Tee (8420L UltraClub)- women1 Color FrontAdult 3X2\$10.18Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens1 Color FrontAdult 2X6\$7.80Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens1 Color FrontAdult 2X6\$18.15Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontAdult 2X6\$18.40Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontAdult 2X6\$9.60Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontAdult 2X6\$9.60Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontAdult 2X6\$9.60Sport Tek Posicharge Competitor Short Sleeve T-Shirt Mens3 Color FrontAdult 2X6 <t< td=""></t<>

2	Ultra cotton 100% preshrunk heavyweight t-shirt Navy, white or gray (6.1oz Gildan)	4"x3 1/4" patch front chest (one colorwhite, silver or black)	2X to 4X	12	\$6.84	\$82.08
3	Ultra cotton 100% preshrunk heavyweight t-shirt Navy, white or gray (6.1oz Gildan)	4"x3 1/4" patch front chest (7 different colors)	M, L, XL	24	\$6.60	\$158.40
4	Ultra cotton 100% preshrunk heavyweight t-shirt Navy, white or gray (6.1oz Gildan)	4"x3 1/4" patch front chest (7 different colors)	2X to 4X	12	\$9.60	\$115.20
5	Ultra cotton 100% preshrunk heavyweight long sleeve t-shirt Navy, white or gray (6.1oz Gildan)	4"x3 1/4" patch front chest (one colorwhite, silver or black)	M, L, XL	24	\$6.30	\$151.20
6	Ultra cotton 100% preshrunk heavyweight long sleeve t-shirt Navy, white or gray (6.1oz Gildan)	4"x3 1/4" patch front chest (one colorwhite, silver or black)	2X to 4X	12	\$10.42	\$125.04
7	Ultra cotton 100% preshrunk heavyweight long sleeve t-shirt Navy, white or gray (6.1oz Gildan)	4"x3 1/4" patch front chest (7 different colors)	M, L, XL	36	\$10.78	\$388.09
8	Ultra cotton 100% preshrunk heavyweight long sleeve t-shirt Navy, white or gray (6.1oz Gildan)	4"x3 1/4" patch front chest (7 different colors)	2X to 4X	24	\$13.50	\$324
9	Heavyweight fleece crew neck sweatshirt, 13 ounce, 80% cotton/20% polyester in navy, black or gray (Dickies)	4"x3 1/4" patch front chest (one colorwhite, silver or black)	M, L, XL	24	\$24.20	\$580.80
10	Heavyweight fleece crew neck sweatshirt, 13 ounce, 80% cotton/20% polyester in navy, black or gray (Dickies)	4"x3 1/4" patch front chest (one colorwhite, silver or black)	2X to 4X	12	\$27.50	\$330
11	Heavyweight fleece crew neck sweatshirt, 13 ounce, 80% cotton/20% polyester in navy, black or gray (Dickies)	4"x3 1/4" patch front chest (7 different colors)	M, L, XL	24	\$26.40	\$633.60
12	Heavyweight fleece crew neck sweatshirt, 13 ounce, 80% cotton/20% polyester in navy, black or gray (Dickies)	4"x3 1/4" patch front chest (7 different colors)	2X to 4X	12	\$30.80	\$369.60
			CA	TEGOR	′ (I) TOTAL	\$3,364.56

The following discount applies to Tee Shirts long sleeve, short sleeve and tank tops:

BID PRICES SHALL BE BASED ON COLORS. DISCOUNT	FOR WHITE SIZES (ADULT S-XL) 5%
BID PRICES SHALL BE BASED ON COLORS. DISCOUNT	FOR WHITE SIZES (ADULT 2X) 5%
BID PRICES SHALL BE BASED ON COLORS. DISCOUNT	FOR WHITE SIZES (ADULT 3X) 5%

Brand Bid	
gildan	
	1

Brand Bid	
Gildan	
Brand Bid	
Brand Bid gildan	
gildan	
gildan gildan	
gildan gildan gildan	
gildan gildan gildan gildan	
gildan gildan gildan gildan gildan	
gildan gildan gildan gildan gildan gildan	
gildan gildan gildan gildan gildan gildan	
gildan gildan gildan gildan gildan gildan gildan	

gildan
gildan
Brand Bid
Champion
Champion Champion
Champion
Champion Champion
Champion Champion Champion
Champion Champion Champion Champion
Champion Champion Champion Champion Champion
Champion Champion Champion Champion Champion
Champion Champion Champion Champion Champion Champion
Champion Champion Champion Champion Champion Champion Champion
Champion Champion Champion Champion Champion Champion Champion Champion

gildan

I
Champion
Jerzees

Fruit of the
Fruit of the
Jerzees
Champion
Jerzees
Fruit of the
Fruit of the

_
Champion
Jerzees
Fruit of the
Fruit of the
Champion
Champion

Brand Bid
Gildan
Gildan Gildan
Gildan Gildan
Gildan

Gildan
Gildan
Brand Bid
Gildan
Gildan Gildan
Gildan Gildan
Gildan
Gildan
Brand Bid
UC

UC	
UC	
Bra	and Bid
Bra	and Bid
	and Bid
UC	and Bid
UC	and Bid
UC UC UC	and Bid
	and Bid

UC
UC
UC
UC
UC
Sports Tek
Brand Bid
Gildan

Gildan
Gildan